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Abn=g | K AVE | Abe=d | K AVE | Abe=d | K AVE | ARR-2 | KAV

1| SARRME | (B X) 75 20 80 19 39 75 |77.5 | 80
2 | FRGHLET|  @EHEK) 78 19 80 19 38 78 [79.0 | 80
3| B 0:E (HER) 82 17 78 20 37 78 [80.0 | 82
4 | BB KT | WRErsx) 88 13 80 19 32 80 |84.0 | 88
5 | Ak T Gk 1X) 83 16 81 16 32 81 |82.0 | 83
6 | #BME Gl X) 85 15 81 16 31 81 [83.0 | 85
7 | RATHRT (k. X) 79 18 82 13 31 79 |80.5 | 82
8 | HI THEF (A X) 85 15 84 8 23 84 |84.5 | 85
9 | AKX EF (BRIX) 93 4 81 16 20 81 |87.0 | 93
10 | B EAE (M X) 88 13 85 6 19 85 |86.5 | 88
11| =R EF B ) 90 10 84 8 18 84 |87.0 | 90
12 | ¥k W7 (8 5LIX) 95 0 82 13 13 82 |88.5 | 95
13 | Ak =& e ) 88 13 87 0 13 87 |87.5 | 88
4 | K& &ET (HBHLX) 92 6 85 6 12 85 [88.5 | 92
15 | #E T (FLEX) 99 0 83 11 11 83 [91.0 | 99
16 | FEHEMRT | EERIK) e 83 11 11 83 |83.0 | 83
17 | FA—-—Z= (HHEX) 83 11 11 83 |83.0 | 83
18 | W THT (8 5L IX) 90 10 90 0 10 90 90.0 | 90
19 |FREE#HT G X 90 10 10 90 90.0 | 90
20 | WAIEHSE G X) 91 7 90 0 7 90 |90.5 | 91
21 | Wi T (FHEX) 95 0 85 6 6 85 [90.0 | 95
22 | HM WA (FIERX) 95 0 85 6 6 85 [90.0 | 95
23 | FKoLEHE (LX) 97 0 85 6 6 85 [91.0 | 97
24 | YESFAEHEEY (FX) 92 6 6 92 192.0 | 92
256 | HPERT (FHEX) 93 4 90 0 4 90 [91.5 | 93
26 | KRB BT | #HEIK) 93 4 94 0 4 93 93.5 | 94
27 | Pk Hia (FHEX) 103 0 86 1 1 86 [94.5 | 103
28 | #ARFEMAL (i x) 94 1 90 0 1 90 [92.0 | 94
29 | BHEET (Fk X) 94 1 91 0 1 91 [92.5 | 94
30 | W T (e x) 87 0 0 87 [87.0 | 87
31 | M FEM hX) 98 0 88 0 0 88 [93.0 | 98
32 | WRAD X (@IRX) 88 0 0 88 [88.0 | 88
33 | LR RE (BT IX) 101 0 90 0 0 90 |95.5 | 101
34 | ik T CI 90 0 0 90 [90.0 | 90
35 | ®iE UL (FEIX) 90 0 0 90 90.0 | 90
36 | BAREET (4RIX) 91 0 0 91 [91.0 | 91
37 | NHEDAH (FHEX) 95 0 0 95 95.0 | 95
38 | IR RWT (FBHIX) 95 0 0 95 95.0 | 95
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39 | e FEFE (ERX) 95 0 99 0 0 95 197.0 | 99
40 | BREDA (e X) 99 0 0 99 199.0 | 99
41 | HR¥E EHF (AR 100 0 0 100 |100.0 | 100
42 | & BT (55 FLIX) 104 0 101 0 0 101 [102.5 | 104
43 | BHE THe GRS 103 0 0 103 |103.0 | 103
44 | /AR HZE (B+1X) 108 0 0 108 [108.0 | 108
45 | FHEET (LX) LI 0 1000 | - 0
46 | (i @ (AR X) 97 0 0 97 |97.0 | 97
47 | G SR | RES B 99 0 0 99 199.0 | 99
18 | FHFREE (FRZENX) M 0 1000 | - 0
49 | =V HET (FHFHERX) ERIe 0 1000 | - 0
50 | HHE 1T (HZEX) IR S 0 1000 | - 0
51 | #hK T GRS 0 1000 | - 0
52 | HE FET LX) 0 1000 | - 0
53 | dbkr mF Gt ) 0 1000 | - 0
54 | (LS T G X 0 1000 | - 0
55 | Kip>y &= Gl %) 0 1000 | - 0
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